



4 Ashworth Street  
 Linbro Park  
 Johannesburg  
 2090



4 Ashworth Street  
 Linbro Park  
 Johannesburg  
 2090

Hein@lrsa.co.za

Liquor Runners Gauteng JHBNORTHB

012 001 7105

www.lrsa.co.za

**GRV for Signal Hill - LRSA NR: 16292 (GRV)**

**Receiver:** Sanette  
**Checker:** Sanette  
**Warehouse:** CAPE TOWN  
**Sender Ref 1:**  
**Receive Date:** 2025-01-29  
**WarehouseRecv:** ZAGN  
**Sender Ref 2:** SO154901

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
FG CD-049	STRONGBOW RED BERRIES CIDER - 24 X 330ML	A5024710A1		84	2016
FG CD-049	STRONGBOW RED BERRIES CIDER - 24 X 330ML	A5024710A1		84	2016
FG CD-049	STRONGBOW RED BERRIES CIDER - 24 X 330ML	A5024710A1		84	2016
FG CD-049	STRONGBOW RED BERRIES CIDER - 24 X 330ML	A5024710A1		84	2016
FG CD-049	STRONGBOW RED BERRIES CIDER - 24 X 330ML	A5024710A1		84	2016
				2,520.00	60,480.00
<b>Total QTY Received</b>				<b>2,520.00</b>	<b>60,480.00</b>

Checked By: \_\_\_\_\_

**Receiver:** HWL521FS

Transport Company: \_\_\_\_\_

**Checker:** CHYMN

**Driver Signature:** \_\_\_\_\_



Epping  
 166 Gunners Circle  
 Epping 1  
 Cape Town, WC, 7460  
 Phone: +27 (0) 21 203 2490  
 Web: <http://www.signalhillproducts.com>

# Transfer

Order No.: SO154901  
 Order Date: 27/01/2025  
 Delivery Date: 29/01/2025  
 Customer ID: EPPING  
 Currency: ZAR

SIGNAL HILL PRODUCTS

<b>BILL TO:</b> Signal Hill Products (Pty) Ltd 166 Gunners Circle Epping 1 Cape Town WC 7460 SOUTH AFRICA		<b>SHIP TO:</b> LR Johannesburg 4 Ashworth Street Linbro Park Johannesburg GP SOUTH AFRICA				
<b>CUSTOMER P.O. NO</b>		<b>TERMS</b>				
<b>Customer Contact</b> simangaliso.mkhatshwa@signalhill		<b>CONTACT</b> orders@signalhillproducts.com				
<b>SHIPPING TERMS</b> 48 hrs from Nominated Order Day		<b>SHIP VIA</b> Liquor Runners SA				
NO.	ITEM	QTY.	UOM	PRICE	DISC.	EXTENDED PRICE
1	FG CD-049: Strongbow Red Berries Cider - 24 x 330ml NRB (4.5% ALC/VOL)	2,520.0000	CASE	0.0000	0%	0.00
2	RT PA-002: Chep Pallet - Deposit	30.0000	UNIT	0.0000	0%	0.00

*CHYMAN*  
*[Signature]*

063 215 1652

*[Signature]*  
 29/01/2025

PLEASE NOTE: The quantity delivered will be subject to stock availability. Shipment confirmation to follow.	<b>Total Weight (KG) :</b> 32,205.600000	<b>Sales Total:</b> 0.00
	<b>Total Volume (L) :</b> 19,958.400000	<b>Freight &amp; Misc.:</b> 0.00
		<b>Less Discount:</b> 0.00
		<b>Tax Total:</b> 0.00
		<b>Total (ZAR):</b> 0.00





# LR SEDIBENG SEAL REGISTER



Liquor Runners

Vehicle Registration:	Trailer 1	Trailer 2	Order Number:
ADUL 521FS	HMN 707FS	HMN 708FS	63944070
No of Seals	Received by Driver		Seal Number
1			000 2418657
2			000 2418658
3			000 2418659
4			000 2418660
5			000 2418661
6			000 2418662
7			000 2418663
8			000 2418664
9			000 2418665
10			000 2418666
11			000 2418667
12			000 2418668
13			000 2418669
14			000 2418670
15			000 2418671
16			000 2418672

Date: 28-01-25	Time: 15:38	Depot quality check on dented/leaking stock (damage) NONE
Exit Weight: 53060	Total pallets loaded: 30	Transporter quality check on dented/leaking stock (damage) -
Driver Name & Surname: Mfundo Mwelele	Security Name & surname: Mofane	Is the Trailer deck clean and ready for loading: YES
Driver Signature: 	Security Signature: 	Liquor Runners Representative Name & Surname: Thomas Motepe
		Liquor Runners Representative Signature: 

Signal Hill Products  
 Signal Hill Products  
 166 Gunners Circle  
 Pinelands  
 7405

**Delivery note**

Number/date  
 41194916 / 27.01.2025

Reference number/date  
 PO049147

Order number/date  
 1000283031 / 27.01.2025

Customer no.  
 869006

Shipment details

Conditions  
 Shipping conditions Inter-Co/Plant/Direc

Weights (gross/net) - Volumes - Selections  
 Gross weight 35,008.320 KG Net weight 20,558.400 KG  
 Volumes 48,988.800 CD3

\*\*\*\*\*

Item	Material Description	Quantity	Weight
000010	0070334 SBOW Redb&Ap NRB Tray 4(6x330ml) ZA PO number_K /Item:PO049147 Batch A5024710A1	2,520 TRY	19,958.400 KG
	With the following batch valuation: Expiration date, shelf life 31.10.2025 Date when Batch Was Produced 24.01.2025		
000020	4085904 Pallet Rental Wood 1200x1000mm CHEP PO number_K /Item:PO049147	30 PC	600 KG